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PRE BOARD EXAMINATION, 2019-20

Subject : Natural Science (086)

Class : X
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General Instructi';ms 2 .

)] The question paper ¢comprises three sections : A, B, and C. Attempt all the sections. _

(i) All questions are compulsory. ' |

(1) Internal choice is given in each section.

(iv)  Allquestions in Section-A are one-mark questions comprising MCQ, VSA type and assertion-reason
type questions. Theyare to be answered in one word or in one sentence.

™) All questions in Section-B are three-marks, short-answer type questions. These are to be answered in

' about 50-60 words each.

(vi)  /Allquestions in Section-C are five-marks, long-answer type questions. These are to be answered in about
80-90 words each.

(vii) . This question paper consists of a total of 30 questions.

P.T.O.
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Ques-R

Section-A

W“ﬁﬂﬁmmﬁaﬁwaﬁﬁmm (Hhe) =7 §?
What is.the major hazard (problem) of Nuclear Power Generation ?
| 3 %Wﬁf@qﬁﬁ%mﬁmaﬂuﬁﬁ%?
Name two industries which are based on forest produce.
DO R S P ——
mwﬁamﬁmmé%%,ﬁwwawmﬁmﬁ%mﬁmﬂtﬁﬁﬁﬁmwﬁ‘ﬁﬁﬁ%’
el g 7R T 1 O o e et s s, i 3 srten g Pt 9 o
gﬁaﬁ%{:&qma@ﬁ ST ST et Aferehnedt 3 2 Bt & it avdveet 5 @ o) 21 3 ot Bt

| witR

ﬁﬁﬁmﬁﬁwﬁam%twmﬁﬁmﬂmﬁmmﬁwm T 5
ST ST % 1 Qifsgha e o A 3 v

\ dﬁﬁmﬁﬂﬁm%lqﬁéﬁ%ﬁrﬁﬁw%é&d@ﬁﬂ{

1

Wﬁawwaﬁmﬁaﬁ%wwmmmm3(a)ﬁ3(d)%3ma°rﬁ?rqt (1x4)
(@ S 5l wm ¥2

(b) T s 1 Fhm g w1 s wm TR 2

© T i T s W am fefag

(@) bW 3% TR & onuR W o @ frg TR fas 0

Line from artery
to pump
Tubing made of
selectively permeable
’ membrane

ol

4
ialysing

. D
Line from solution A
apparatus to vein )

Fresh Used dialysing

dialysing solution
solution (with urea and
excess salts)
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Kidneys are vital organs for suwivél. Several factors like infections, injury or restricted blood flow to kidneys
reduce the activity ofkidneys and leads to kidney failure. This leads to accumulation of poisonous wastes in
the body, which can lead to death. An Artificial kidney is a device to remove nitrogenous waste products
from the blood through dialysis. Artificial kidneys contain a number of tubes with a semi-permeable living,
suspended in a tank filled with dialysing fluid. The patient's blood is passed through these tubes. During this
passage, the waste products from the blood pass into dialysing fluid by diffusion. The purified blood is
pumped back into the patient. This is similar to the function of kidney but it is different since there is no
reabsorption involved. |

Answer question no. 3(a) to 3(d) on the basis of your understanding of the above passage ?nd the related
studied concepts. |

(@ What is excretion ?

(b) Whenis an artificial kidney needed in any individual ?

(©)  Name the functional unit ofkidney.

(d) How Artificial kidney differ from kidney on the basis ofits function ?

Line from artery
to pump
Tubing made of
l selectively permeable

membrane

Dialysing
Line from solution
apparatus to vein

Fresh Used dialysing
dialysing solution
solution (with urea and

excess salts)

P.T.O.
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gjﬁﬁﬁm“%%ﬂﬁwwm%wmmﬁmlﬁumﬁ%? :
i . (b) ¥ el e
(c) Fad (d) e
What change in colour of 3 dry blue litmus paper you observed when HClgas is passed onit :
g g:ln . (b) No change
. (d) Yellow
MRUREREER LR I p— HIAR? :
Which ion is produced by acid ina solution ?
@H (b) OH-
(6) H,0- (d)OH"
FH-Th g 302 (i) @ @ i e 32 :
Which metal reacts with cold water ?
(a) Al (K-
(c) Fe (d) Zn

SH-H wiwaa Joft e ww A ¥

Which reactivity series is in correct sequence :

(a) Na, Mg, Ca (b) Na,' Ca, Mg
(c) Mg, Zn, Al (d) Fe, Zn, Al
OiaTsh o1 Y3 Qe are 9 @ 1
(a) e wiETsh | (b) wea whes
(c) waHfE=H (@) TR
The main thinking part of the brain is :
(a) Fore-brain _ | (b) Mid-brain
(c) Hind brain ' (d) Hypothalamous
_ - ALA1(Or)
&1 s FfTER % HEA We T i FEd ¢ \
-~ (b) fa=
() g |
(c) wif . (e
The Gap between two neurons iscalleda:
(a) dendrite ‘ (b)symapse
(©) axon . (d) impulse
c 7
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11.

T & o Wi # SR e B §—
(a) 1@ T (b) T (TEST)
OLI (d) TR

Which part ofthe flower contain male germ-cells :

() Sepals (b) Petals

(c) Stigma (d) Anther

Fr-wft St 1 S g @ e T A !
(a) ot et (b) TS

(c) W—Wﬁ (d) syt it

Which source ofenergy is not related to sea : |

(2) Tidal energy (b) Wave energy

(¢) Ocean thermal éﬁe}gy " (d) Geothermal energy

JAAT(Or)

#ﬁ—@ﬁﬁvw%wmwm%Q

(a) CO, (b) T TS
(c) % (d) TG

Which gas constituté the major part ofbiogas : |

(a) CO, (b) Hydrogen Sulphide
(c) Methane (d) Hydrogen

i S T e o ¢ ,
Gang: S was started in
(a)1975 (b) 1995
(c) 1990 (d) 1985

P.T.O.
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13.

6

| AG41(Or)
FH TH W e e TV TR ¥—
(a) Tnfem (b) T
(©) W (d) 2 gsft
Which is ancient water harvesting system : -
(a) Khadins (b) tals
(¢) Kulhs (d) All of these

SR (A) : W e vl ol it 8 e o oS -
W(R):W%maﬁmgmﬁ%qﬁaﬁﬁmmmﬁﬁvﬂﬁm%u
(a) A#Raﬁm%aﬂw,mﬁaﬁm%r

() AR R v & g R, A 9 vt srem S5
() ATIRIRR swE T

@) A et RE™ )

Assertion (A) : Surgical methods are most effective méthods of contraception.

Reason (R): Surgical method blocks gafmetes transport hence prevent fertilisation
(@) BothAandR are ture and R is correct explanation of'this.

(b) - Both AandR are true but Ris not correct explanation of A’
() AistruebutRis false. '

(d) Aisfalsebut Ristrue. .

FTHHET (A) : BR gl § oTaaat <i 1 SIE0 Bt 8 )
FRO (R) : STaAe TUU YA RTINS STHHTIE S T |
(@) AR RTH TH T 3R, AT U8 =G |

(b) AR RS w € fFg R, AST & o T ¥
© A¥EE SRR ITA R

(d) A FEH TR AL

Assertion (A) : Concave mirror are used in solar funace.

_Reason (R) : Concave mirror diverge the reflected light.

(a) BothAand R are true and R is correct explanation of °A’.
(b) BothAandR are true but R is not correct explanation of ‘A’.
(c) . AistruebutRis false.

(d) Aisfalsebut R is true.
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14. 20°C W 3 w1 =1 whrierewan 1 e §—
The range of resistivity of some material at 20°C is giveas:
et (Material) qfteT (Range)

et (Conductors) 1.60 x 103to 1.84 x 10°¢

farsreng (Alloy) 49 x 10%t0 100 x 10°*
forgdieft (Insulators) 10" to 1 x 10
T w1 A, B 3R C =t whirisresa wron § 6§ &2

Resistivity of three material A, B, C is given in the table :

A B C

SRR (Resistivity) 1 x10v 2.63 x10® | 44 x 10°¢

SR S RN 1 e o W 14(a) B 14(d) 3 IR Afa—
Study the above tables based on resistivity and answer the Question No. 14(a) to 14(d). 7
@ A, BSRCHIFH aws? |
Between A, B and C which is a eonductor ?
(b) @W?ﬁﬁﬁgﬁﬂﬁmﬁwm%?
Why some materials ar;e kniown as insulators of electricity ?
(© e iy B g e o fe @ e ) R 2
Write two factors on which resistance of a resistor depends ?
(d) wfaesEm 1 SI AT 8 7
The SI unit of resistivity is :
(i) €2 (i) Q/m
(iii) p (W/Rho) (iv) Om
PT.O.
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| E
8
HA-9

Section-B

TS 5Tt 89 1 e e, mwﬁshawﬁﬁaﬁmmmmﬁﬁmm%*

@ M‘X’ﬁwﬁﬁql

® 58 i & et = e oo ff
(i) = X 35 2 i ferfa | 3
A compound

X’ is pl'epal‘ed from gypsum hasa property ofha_rdemng when ml)(ed witha proper quantity
of water.

()  Identifythe compound ‘X,
()  Write the chemical equation for its preparation.

(i)  Write any two uses of co mpound ‘X’.

) e iR 30 = it foam fafan

() o weivgs w1 fmin vz

(i) == § B Y o Sufen E2

()  Write electronic configuration of sodiurn and chlorine.

(i)  Show the formation of sodium chloride.

(i)  Which ions are present.in this compound ?

HIA(Or)
fofeh oraeh H 0 ARSI o fHe T S 108 & T aelt Y S Ol ¥ T svrew @ AW
forfere aen 39 e A (Zn) og fseso & =xon = fafe) |
An ore of zinc when reacts with dilute hydrochloric acid produce a gas with smell of rotten egg. Name the
ore. Write thesteps involve during the extraction of metal (Zn) fromits ore.
<0 yeE &1 §AT § avit wifeg fws 5[ CO, ﬁ“ﬁwmmf@“ (wg) ﬁﬁrﬂ"r%lwmaﬂ

amtE g o fafem)

S
Explain the process in brief by which the CO, gas is get fixed up by the plant. Also write its chemical

equation.
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18, oritan 5 S e &2 S o e o | ao wfe— g °

How do Amoeba reproduce ? Explain in brief with suitable diagram.
ANg4a(Or)
() Svafer g9 AR w e €2 9 e Sifew
What are bisexual flowers? Give two examples.
(i) oYl H AT AR VST & 1w B 2
What is the role of Anther and Ovary in plant ? | .
19. mmﬁ@mw@@ﬁg;ﬁm PQR ¥ fost & e Tl © | v ot A o fohem

& 99 1 BhiT ST T Neror g3y |
@) 39 9ftere &1 AW @ s fafea
() SR T UfEre @ wrfae 9 Q 3R wel dero (@) ®? | -

gftzanfia faenfial & fr—swuge S T €2

A narrow beam AB of white light is passing through glass prism POR as shown in the diagram. Draw 1t on
your answer sheet and show the path of the emergent beam as observed on screen ST. Also

()  Write the name of the Phenomenon and its catise ?

() Whereelsein nature have you observed this Phenomenon ?

For Blind students—How is rainbow formed ?

: Screen /9&i
s S »

Pt . e

9
py

Prism / f&=a ‘ T

"!’20. & A § Fepe-gfic G 8R % H1E <1 Ry S|

79 <19 3R S8 (e = Sfad ol g SHER | ‘ 3
State two main causes of a person developing near sighterness. :
Explainthis defect and its correction with suitable diagram.

Sfzafi faenieer & RIq—frre ghede = e frd |

For Blind students—Write a note on nearsightedness.

B, S S e

P.T. O.

i
o B e s T A AL e M S

Bt & BT
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10
0] eﬁnwﬁmﬁf@m

EERRLE SR o L ST TS a—— T R SR
wHiferT |

i) T o s o

()  State ohm's law,

()

Observe the reading given in the table taken by a student i an electric circuit of resistance °X.

Calculate the resistance X,

(i)  Draw a graph for these readings.

S.No. Current Voltage (V)
1 0.1 0.4 .
2 0.2 0.8
3 0.3 1.2
4 04 1.6
5 0.5 2.5
HYAT (Or)

220V W 440W G 220V T ssowm%aéazzov%ﬁqa@ﬁ%wﬁmﬁﬁm%l
() FEESH B e % foe fagm wRoy swe s
giteantar feranfdal & fu— (i) mw i em 2

(i) o s (e ) @ h i g e e i) |

Two heater, one rated 440W at 220V and the other 880W at 22 0V, are connected in parallel to the electric
supply at 220 V. |

(i) Draw a circuit diagram to show the connections.

For Blind students—(i) What is fuse ?

(i) Calculate the current drawn from the electric supply by the heater.
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FaR ey

2. () TAETH A frem fafe
1 ‘
() Tore iR v e 2 for e & 3 36 Q) s S 7 .
()  Write Fleming's left hand rule.
(@)  What is electric motor? Give two examples where electric motor is used ?
() T foreg v gemeR e # so grm 4 Y S
() g & Yeelt & S o ffee | >
© - gfteafia fenfiar & fre—gemia & Yenedi & i o e |
()  Draw magnetic field lines around a current carrying circul.';r loop.
@  State two features of magnetic field lins. |
For Blind students—Write three characteristicsof -I_nagnetic field lines.
(0 e S st ke 2 e i
() sushomet & fafem serwn §2 3
(1) Whatare préducer§ and consumers ‘?Give example.

(i) What are different types oféonsumers.
WT-|
Section-C
TFRTFTH WW@ﬁﬁﬂ%%ﬁWﬁwmmm%w @Wﬁﬁmm
et 9 ot S B

0 wﬁmﬁmﬂmﬁmwmﬁaﬁwmmu |
() 9 SAfulshal 1 T U1 Fxifer Tt e fafey

(i) &9 SRR H SO 39 AR H AH qA T T | 5
P.T.O.
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12 E
Alight green coloqred hydrated metallic salt on heating loses water of crystallisation molecule and gives a
suﬂ‘oéathlg/Pungent odour gas.
@ Identify the salt used and gas produced in this reaction.
(i)  Write the name and balanced chemical equation for this reaction.
(i)  Name the solid product forméd in this reaction and also write its colour.
NUA(0r)
W%@wﬁﬁa@@wﬁ@aﬁm sveTEs e A ffua #1—
@) %ﬁmﬁvﬁaﬁﬁwﬁwﬁfﬁﬁmwgqﬁﬁﬁmmel
(i) 39 A4l =1 Fiea Taafe T fafe)
(i) <@ i &1 T |
Spresh added few dro ps of Potassium Iodide solution in lead nitrate solution in a test tube.
()  Write your observation ofthe change ? What is the name of new compound formed.
(i) Write a balance chemical equation for this reaction.
(i) Name the chemical reaction involved in this reaction.
) g Svi frd et &2 Fre et A § 8 w6 § At wam et oot @ ) ke
a"rﬁm # gl o uaqu’fmas TE ) e w Tt CzHSCHb, C,H,OH, CH,0H, C,H,0H,
CH,COOH

(i) SETHFE?
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()  Whatishomologous series ? Which of the following organic compound belong to thesame hiomologous
series. Also identify the functional group present in cach ofthem. -
C,H,CHO; C,H,OH; CH,0H; C,H.OH; CH,COOH

(i)  What is Catenation ? |

AL Or)

@ iﬁﬁﬁaﬁmﬁvﬁaﬁa%ﬁmﬁaaﬁﬁm%ﬁqﬁf@quﬁaﬁﬂwwﬁm
Bhiczult] %rﬁ@rq |

@ TR SR udie o 3 e & SMUR R o T R
(a) foemg o= (b) NaHCO, ¥ sifufisan (¢) T

()  Nametwo oxidising agents that are used to convert alcohal into acid. Also write its chemical equation.

()  Distinguish between ethanol and ethanoic acid on the basis of
(a) Litmus test (b) reaction with NaHCO, (c) odor.

1
1 18
2 ' ' 13 14 15 16 17 [ p
A 3 4 5 & 7.8 9 10 11 12[E C
B

() emad 9RO H fEu Al A, B, C, D 3R E w1 e fafe |

(i) o A e e C Qe s ® @ 59 voR %1 difires 51§92 |

(i) m‘A’@a?a‘E’_ﬁﬁmﬂamwmw@a@mﬁmmmmmmm

TN SR 1 2

()  Write thewvalency ofelement A, B, C, D and E in the given periodic table.

(i) . What type of compound will be form when ‘A’react with.element )

(i)  AmongA to E which element have largest and which have lowest atomic size and why ?

P.T.O.
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14
() Teu o @ goite o o &1 T TR
(i) fe=1 A, B, C &ir D ufedi &1 Team =it |
(i) Aﬁa%wﬁawwaﬁqmwamwﬁ@m
()  Name the system shown in the given figure. |
() IdentifyA,B,CandD gland in the figure.

(i) Which hormone is released fromA. State its function. (Any One)

/
Tian
v

\

IFFar/OR
WW%W%?WWW?@%%WﬂW@%@ﬁ@W,

What are Phytohormone ? Write name and their function of any four Phytohormone.
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¥ ﬁ@*’”"“ﬁ‘ﬁWw%wﬁwwaﬁwamm%aﬁmmﬁﬁmﬁwaayyam—ﬁm

fmm%,ﬁmwmw_ |

() F, 8 SN o -2 < g 2

(i) Fﬁ?ﬁrﬁYYameéawmﬁaaqgmﬁaﬁﬁﬂémml

@) YY;Yy; yy Siers amt el & e s an s a2 ‘ : 5
| Avyellow coloured seeded dominated pea piant denotgd by YY i cross breed with that of green colour

seeded plant denoted by vy.
(D  Statethe colour of seed you would expect in their E, generation plant.

(i)  Show the expected ratio of the génotypes YY and Yy in the F, progeny by a suitable chart.

(i)  What will be the colour of the seed liave genotype of YY; Yy; yy ?

36. @ m%awﬁq%ﬁm%f@m

| (i) wﬁ:ﬁaﬁﬁmﬁvﬁnsx108m/s%aﬁzmm‘xﬁmﬁwra1.5x108m/sa?hm%m‘)<’
&1 FRUY sTaaire @ Sty ?

(ii) mﬁwﬁﬁﬁmﬁwmuﬁrﬁwwﬁﬂmﬁmeﬁ?WWW%wﬁﬁmaﬁ@mmﬁ
HITT |

e feenfefai & ferg—

Wﬁwﬁéwmﬁn%@t
: P.T.O.
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()  State the laws of refraction of light.

() Ifthespeed of light in vaccum is 3 x 10® m/s, find the absolute refractive index of a medium ‘X’
in which light travels witha speed of 1.5 x 10° m/s.

(ii)  For whichposition ofthe object does a convex lens form a virtual and erect image ? Explain it with the
help of a suitable ray diagram.

For blind students—

Write one use of convex lens.
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